In Out A) 0 A) 1 B) 0 B) 0

Washington County Corrections Facility *The Inmates Held In The Washington County Corrections Facility On This 30th Day Of October, 2023*

Inmates by Facility: WCSO: 69 D&E: 0 Other: 0 TOTAL: 69

		AL: 09						
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date	
1	Parras, Jorge L. WCSO	Warrant- Use of a Deadly Weapon to Commit Felony, Terroristic Threats, Stolen Firearm Prohibited Acts, N/C Victims	07-27-23 1919	WCSO 11-28-23	07-26-03	X X	\$200,00.00 10% \$20,000.00	
2	Smith,Chayton M. WCSO	Warrant -1 st Degree Sexual Assault, Strangulation, Child Abuse	10-13-23 0315	WCSO 11-08-23	10-02-02		\$100,000.00 10% \$10,000.00	
3	Lehman, Louis M. WCSO	Terroristic Threats, Burglary, Theft By Unlawful Taking, Criminal Mischief, Use of a Deadly Weapon to Commit a Felony, N/C Victim	10-20-23 0120	WCSO 11-01-23	08-31-98	X X	\$90,000.00 10% \$9,000.00	
4	Jensen, Jeremy D. WCSO	Warrant- FTA for Hearing	09-11-23 1256	WCSO 10-31-23	12-19-80		\$50,000.00 10% \$5,000.00	
5	Ryan, Christopher J. WCSO	Violation of Post Release Supervision	09-19-23 1055	WCSO 10-31-23	12-02-75		\$50,000.00 10% \$5,000.00	
6	Tyson, Joel W. WCSO	DUI 4 th , Obstructing Police	10-28-23 2154	WCSO	12-11-84		\$50,000.00 10% \$5,000.00	
7	Boeka, Adam M. WCSO	Warrant- Theft by Unlawful Taking, N/C Victim	08-01-23 1401	WCSO 11-07-23	11-19-83	X X	\$45,000.00 10% \$4,500.00	
8	Miller, Lori L. WCSO	Poss. Controlled Substance, DUS	09-28-23 1256	WCSO 10-31-23	01-29-76		\$30,000.00 10% \$3,000.00	
9	Garvin, Andrew J. BPD	DUI 3 rd , Refusal to Submit Chem Test, Refusal to Submit PBT	08-12-23 1743	WCSO 12-05-23	03-02-85		\$20,000.00 10% \$2,000.00	
10	Wilder, Stacey C. BPD	Poss. Controlled Substance, Warrant -FTA for Arraignment	10-12-23 0050	WCSO 11-01-23	04-05-71		\$10,000.00 10% \$1,000.00 \$9,000.00 10% \$900.00	
11	Tripp, Michael L. WCSO	Warrant- FTA Paycard, FTA for Probation Revocation Hearing	10-27-23 1057	WCSO	05-18-83		\$10,000.00 10% \$1,000.00 \$649.38 Cash	
12	Carter, Brooke D. BPD	Obstructing, Resisting Officer, 3 rd Degree Assault	09-21-23 1929	WCSO 11-22-23	05-13-99		\$12,500.00 10% \$1,250.00	

Signed:	cc:	Ca	ptain ⁹	's Sec	retary.	, Count	y C	ourt,	and	District	Cour	t.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
13	Hilgerson, David M. WCSO	Forgery x2, N/C Victim	10-06-23 1325	WCSO 11-15-23	04-28-66	X X	\$12,000.00 10% \$1,200.00
14	Chenier, Corey J. WCSO / Sarpy Co & Douglas Co Hold	Poss. Controlled Substance, Sarpy Co Warrant -FTA x2, Douglas Co Warrant -FTA	08-26-23 0424	WCSO 12-05-23	04-20-91		\$10,000.00 10% \$1,000.00 Sarpy Co- \$1,500.00 10% \$150.00 Douglas Co- \$10,000.00 10% \$1,000.00
15	Wait, Alexis M. BPD	Criminal Impersonation, Theft by Shoplifting	09-18-23 2037	WCSO 10-31-23	07-11-95		\$10,000.00 10% \$1,000.00
16	Logan, Elijah E. WCSO	Warrant- 1 st Degree Assault, Use of a Weapon to Commit Felony	05-15-23 1515	WCSO 12-19-23	06-29-00		NO BOND
17	Collins, William P. WCSO	Warrant - Burglary, 1 st Degree Assault, Theft by Unlawful Taking, 1 st Degree Murder, Stolen Firearm Prohibited Act, Use of a Deadly Weapon to Commit Felony x2	09-14-23 1723	WCSO 12-13-23	07-25-93		NO BOND
18	Thomas, Heath J. WCSO / Sentenced	Warrant- FTA	07-19-23 1813	WCSO	10-03-77		Release Date 11-23-23 @ 0800
19	Allen, Andrew J. WCSO / Sentenced	Warrant - Criminal Mischief x7, Disturbing the Peace	08-26-22 1723	WCSO	05-20-82		Release Date 03-18-24 @ 0800
20	Gilbreth, Megan C. Burt Co	Burt Co – Resisting Arrest, Criminal Impersonation, Assault on Officer, N/C Victim	10-16-23 2310	WCSO 11-14-23	02-02-90	X X	\$50,000.00 10% \$5,000.00
21	Ayala, Antonio Burt Co / Dodge Co Hold	Burt Co- Domestic Assault, Dodge Co Warrant- FTA for Revoke of Probation, N/C Victim	08-25-23 1119	WCSO	03-12-57	X X	\$50,000.00 10% \$5,000.00 Dodge Co - \$150,000.00 10% \$1,500.00
22	Silva-Alvarado, Daniel I. Burt Co / Assumption Parish, LA Hold	Unlawful Discharge of Firearm x2, Making False Report, CCW, DUI, Refusal to Submit Data Master, No Operators License, Disturbing the Peace, Assumption Parish Warrant- FTA	07-16-23 0055	WCSO	11-24-01		\$500,000.00 10% \$50,000.00 Assumption Parish- NO BOND
23	Sparks-Freemont, Grant P. Burt Co / Sentenced	Burt Co- 3 rd Degree Arson, Criminal Mischief, Disturbing the Peace, Terroristic Threats	06-18-23 0215	WCSO	08-02-83		Release Date 11-08-23 @ 0800
24	French, Rae A. Burt Co / Douglas Co Hold / Thurston Co Hold	Burt Co- Poss. Controlled Substance, Impersonation, Warrant- FTA, Douglas Co Warrant- FTA, Thurston Co Warrant- DUS	08-03-23 2154	WCSO	08-29-81		Release Date 11-11-23 @ 0800 Douglas Co- \$5,000.00 10% \$500.00 Thurston Co- NO BOND

____cc: Captain's Secretary, County Court, and District Court. Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
25	Gallegos, Jadine M. Dodge Co	Dodge Co Warrant- FTA	08-25-23 0818	WCSO	07-10-93		\$150,000.00 10% \$15,000.00
26	Klevemann, Katherine E. Dodge Co	Dodge Co- FTA for District Court	10-24-23 0842	WCSO	05-12-82		\$100,000.00 10% \$10,000.00
27	Ringle, Cody M. Dodge Co	Dodge Co- 3 rd Degree Domestic Assault, Criminal Mischief, N/C Victim	10-15-23 0931	WCSO	06-13-90	X X	\$60,000.00 10% \$6,000.00
28	Johnson, Elaine M. Dodge Co	Dodge Co- 2 nd Degree Domestic Assault, Use of Weapon to Commit a Felony	08-25-23 0830	WCSO	06-15-93		\$50,000.00 10% \$5,000.00
29	Imus, Levi D. Dodge Co / Wash Co Hold	Dodge Co- FTA, Washington Co Warrant- FTA for Paycard	10-10-23 1503	WCSO	11-15-91		\$40,000.00 10% \$4,000.00 Wash Co- \$302.00
30	Ruff, Gina C. Dodge Co	Dodge Co- DUI 3 rd , Refusal to Submit Datamaster, Refusal to Submit PBT, Child Abuse x2, Resisting Arrest, Transporting Child While Intoxicated, Obstruction of Peace Officer	09-08-23 0902	WCSO	07-12-71		\$25,000.00 10% \$2,500.00
31	Arenas-Salamanca, Jamie R. Dodge Co	Dodge Co- DUS, Poss. Controlled Substance	10-05-23 0819	WCSO	04-22-76		\$20,000.00 10% \$2,000.00
32	Frahm, Julie A. Dodge Co	Dodge Co- DUS, Poss. Controlled Substance	10-02-23 0849	WCSO	06-13-71		\$10,000.00 10% \$1,000.00
33	Schutt, Tammy A. Dodge Co	Dodge Co- Poss. Controlled Substance, Tampering w/ Evidence	10-10-23 0832	WCSO	12-08-63		\$10,000.00 10% \$1,000.00
34	Buck, Jillian R. Dodge Co	Dodge Co- FTA x2, Poss. Controlled Substance, Obstruction, Resisting Arrest	07-24-23 0807	WCSO	09-17-86		\$150,000.00 10% \$15,000.00 \$403.00 Cash NO BOND
35	Gutierrez, Tanya L. Dodge Co / Holt Co, MO Hold	Dodge Co- Poss. Controlled Substance, Criminal Impersonation, Obstruction, False Reporting, Warrant- Theft by Unlawful Taking, Holt Co Warrant- Poss. Controlled Substance	06-02-23 1346	WCSO	07-29-83		Dodge Co Warrant- \$12,000.00 Cash Dodge Co- \$20,000.00 10% \$2,000.00 Holt Co- NO BOND
36	Steffensmeier, Danielle M. Dodge Co	Dodge Co- Poss. Controlled Substance	10-25-23 1452	WCSO	09-13-87		NO BOND

Signed:	cc: Captain's Secretary, County Court, and District Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
37	Mathews, Sharita J. Dodge Co / Sentenced	Dodge Co- Poss. Controlled Substance	04-28-23 2053	WCSO	10-10-84		Release Date 10-30-23 @ 0800
38	Goodteacher, Janet L. Dodge Co / Sentenced	Dodge Co- Theft by Shoplifting \$501-\$1499	10-10-23 1624	WCSO	01-31-68		Release Date 10-31-23 @ 0800
39	Worth, Leslie A. Dodge Co / Sentenced	Dodge Co- DUI 2 nd	10-24-23 1534	WCSO	10-27-86		Release Date 11-14-23 @ 0800
40	Godina, Amanda I. Dodge Co / Sentenced	Dodge Co- Attempt of Class 4 Felony x2	10-24-23 1523	WCSO	07-20-87		Release Date 11-22-23 @ 0800
41	Stuart, Tammie M. Dodge Co / Sentenced	Dodge Co- Attempt of a Class 4 Felony, 2 nd Degree Trespassing	10-10-23 1533	WCSO	06-04-71		Release Date 03-27-24 @ 0800
42	Deras, Amber R. Gage Co / Sentenced	Gage Co- CCW	10-12-23 1343	WCSO	07-07-82		Release Date 11-03-23 @ 1400
43	Keib, Alexis C. Lancaster Co	Lancaster Co- 1st Degree Sexual Assault of a Child	06-30-23 1800	WCSO	12-19-00		\$750,000.00 10% \$75,000.00
44	Versaw, Kaitlyn R. Lancaster Co	Lancaster Co- Poss. w/ Intent to Deliver	10-10-23 1042	WCSO	02-08-99		\$100,000.00 10% \$10,000.00
45	Danekas, Amanda M. Lancaster Co	Lancaster Co- Child Abuse, Obstructing Police, False Reporting	06-30-23 1800	WCSO	02-23-77		\$25,000.00 10% \$2,500.00
46	Massa, Danielle T. Lancaster Co	Lancaster Co- Theft by Unlawful Taking x4	10-10-23 1041	WCSO	07-28-96		NO BOND
47	Ficenec, Mary M. Lancaster Co	Lancaster Co- Shoplifting	10-24-23 1026	WCSO	02-11-84		NO BOND
48	Henning, Elizabeth H. Lancaster Co / Sentenced	Lancaster Co- DUI, Theft by Unlawful Taking	10-10-23 1041	WCSO	05-04-99		Release Date 11-01-23 @ 0800

Signed:	cc: Captain's Secretary,	, County	Court, and I	District Court.
	- 1 · · · · · · · · · · · · · · · · · ·	,	,	

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
49	Xuncax, Angelina M. Lancaster Co / Sentenced	Lancaster Co- DUR, DUI 2 nd	10-17-23 0956	WCSO	03-16-89		Release Date 11-04-23 @ 0800
50	Bloker, Lindsey L. Lancaster Co / Sentenced	Lancaster Co- Nonpayment of Child Support	10-03-23 0959	WCSO	04-17-84		Release Date 11-10-23 @ 1300
51	Sellers, Sarah J. Lancaster Co / Sentenced	Lancaster Co- Poss. Marijuana More Than 1lb, CCW	06-30-23 1800	WCSO	04-08-85		Release Date 11-10-23 @ 0800
52	Grant, Jennifer L. Lancaster Co / Sentenced	Lancaster Co- Violation of Home Detention	06-30-23 1800	WCSO	07-13-74		Release Date 11-18-23 @ 0800
53	Hart, Rosemary L. Lancaster Co / Sentenced	Lancaster Co Warrant - Attempt of a Class 4 Felony, False Reporting, Warrant - 2 nd Degree Forgery	06-30-23 1800	WCSO	05-15-91		Release Date 11-18-23 @ 0800
54	Jauken, April C. Lancaster Co / Sentenced / Buffalo Co Hold	Lancaster Co- Poss. Controlled Substance, 2 nd Degree Trespassing, Buffalo Co Warrant- Order to Show Cause	09-05-23 1136	WCSO	10-09-80		Release Date: 11-28-23 @ 0800 Buffalo Co- \$500.00 Cash
55	Peterson, Ashley E. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance	07-13-23 1000	WCSO	09-20-89		Release Date 12-27-23 @ 0800
56	Robinson, Rasheda J. Lancaster Co / Sentenced	Lancaster Co- 2 nd Degree Assault	10-10-23 1040	WCSO	06-19-90		Release Date 01-11-24 @ 0800
57	Eastman, Bridget C. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance	07-25-23 1042	WCSO	05-03-60		Release Date 01-28-24 @ 0800
58	Ruel, Mallory L. Lancaster Co / Sentenced	Lancaster Co- Child Abuse, Criminal Mischief, Warrant- FTA	10-17-23 0956	WCSO	07-14-88		Release Date 02-01-24 @ 0800
59	Hauschild, Angel L. Lancaster Co/Sentenced/Buffalo Co Hold	Lancaster Co- Failure to Comply w/ Drug Court Conditions, Bufffalo Co Warrant - FTA	10-03-23 0959	WCSO	10-16-23		Release Date 02-09-24 @ 0800 Buffalo Co- \$243.54
60	Brown, Sydney M. Lancaster Co / Sentenced	Lancaster Co- Probation Violation	09-12-23 0947	WCSO	03-28-96		Release Date 02-14-24 @ 0800

_____cc: Captain's Secretary, County Court, and District Court. Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
61	Moten, Lisa P. Lancaster Co / Sentenced	Lancaster Co- Child Abuse	10-17-23 0956	WSCO	08-23-70		Release Date 03-15-24 @ 0800
62	Nuss, Crystalina A. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance	10-10-23 1042	WCSO	06-01-83		Release Date 04-03-24 @ 0800
63	Hudson, Austin C. OPD	OPD- FFJ	11-22-22 1757	WCSO	02-04-98		\$350,000.00 10% \$35,000.00
64	Lambirth, Ashley K. Otoe Co	Otoe Co- Poss. Controlled Substance, Poss. w/ Intent to Deliver	08-25-23 1530	WCSO	07-08-87		\$35,000.00 10% \$3,500.00
65	Ramirez, Itsamar S. Saunders Co	Saunders Co - DUR, Poss. Controlled Substance, Poss. of Firearm by Prohibited Person, Poss. of Stolen Firearm, Operating a Motor Vehicle to Avoid Arrest	06-15-23 1534	WCSO	04-13-95		\$250,000.00 10% \$25,000.00
66	Elznic, Jessica L. Saunders Co / Adams Co & Madison Co Hold	Saunders Co- Poss. Controlled Substance, Making False Statement, Adams Co Warrant- FTA x2, Madison Co- FTA x4	09-19-23 1230	WCSO	10-08-77		\$5,000.00 10% \$500.00 Adams Co - \$15,000.00 10% \$1,500.00 Madison Co - \$150,000.00 10% \$15,000.00
67	Lazinski, Linda D. Saunders Co / Sarpy Co Hold	Saunders Co - DUI 3 rd , DUR, No Interlock Permit, Open Container, Sarpy Co Warrant- Fail to Comply with Pretrial Release	08-14-23 1610	WCSO	05-10-66		\$50,000.00 10% \$5,000.00 Sarpy Co- NO BOND
68	Evans, Alissa C. Saunders Co / Sentenced	Saunders Co- DUI 2 nd	10-13-23 1426	WCSO	06-07-76		Release Date 11-02-23 @ 0900
69	McGonigle, Stephanie R. Saunders Co / Sentenced	Saunders Co- Contempt of Court	10-11-23 1248	WCSO	02-07-86		Release Date 11-08-23 @ 0800
70							
71							
72							_

Signed:	cc:	Captain	's Secretar	v,	County	Court	, and	District	Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
73							
74							
75							
76							
77							
78							
79							
80							
81							
82							
83							
84							

Signed:	cc:	Ca	ptain ⁹	's Sec	retary.	, Count	y C	ourt,	and	District	Cour	t.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
85							
86							
87							
88							
89							
90							
91							
92							
93							
94							
95							
96							

Signed:	cc:	Ca	ptain ⁹	's Sec	cretary	, Cour	ity (Court,	and	District	Cour	ct.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
97							
98							
99							
100							
101							
102							
103							
104							
105							
106							
107							
108							

Signed:	cc:	Ca	ptain ⁹	's Sec	cretary	, Cour	ity (Court,	and	District	Cour	ct.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
109							
110							
111							
112							
113							
114							
115							
116							
117							
118							
119							
120							

Signed:	cc:	Ca	ptain ⁹	's Sec	cretary	, Cour	ity (Court,	and	District	Cour	ct.

Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:	cc:	Ca	ptain ⁹	's Sec	cretary	, Cour	ity (Court,	and	District	Cour	ct.

_cc: Captain's Secretary, County Court, and District Court. Signed: